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1. 1919 =1 A&y ATHEE FHIUN GINIh! HIvRET TE! ST ?
(a) WIRAE HATET TN grers = ﬁt—hﬁf{fﬂ@?ﬂ?ﬂ
(b) Wwwawmmmmﬁwﬁm.
() wiame feger Tsaugd! fFafor e,
() WRA™ TTE VIR yRars fTsiiqa e s,

it I
1) (a), (b) S () W 2 (@) (c) 30 (d) ®
(3)  (b), (c) M (d) FH @) (o) 3nfoT (d) Fert

Which of the following were the provisions of the Montegue Chelmsford Act 1919 ?

(a) The salary of the Secretary of State for India should be paid from the treasury of
England.

(b). Indian High Commissioner should work as the representative of the Viceroy of India
in England. :

(c) Dual system of government should be started in the provinces.
(d) The salary of the Secretary of State for India should be given from the treasury of

India.
Answer options :
(1) (), (b) and (c) only (2) (), (c) and (d) only
(3) (b), (c) and (d) only (4) (c) and (d) only

2. TR WY 26 TR 1950 9 TE A0, TR [EE S fauRie S dg e ?
() T fEaiw Fraevam swen wro wE fedmr 1929 =0 wRR=N siftavAR U SR
A A et 9§ T RGN AR $a g H 9 fa o adl @aaa fgaw wv[

e S,
(b) Taurr IedE Afufem 1935 7 3 Wi, faards, s, 99, wi| 9 o
it I
1) 93 (a) 2) a3 (b) @) I (4) THR R

The Constitution of India came into force on 26t January 1950. Which one of the following

two statements about it is correct ?

(@) The reason for choosing this date was that the Congress which had adopted Purna
Swaraj resolution at Lahore in December 1929 had urged upon the Indians to observe
26th January as Independence Day every year.

(b) The sources of the Constitution are based on the Act of 1935 and the Constitutions
of the United States of America, Switzerland, Ireland, Britain, France and Spain.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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3. Tifead aEd B S faEmiae v Y e ?
(@) T 1761 91816 HeA Wie=Rier - & TgIera STeed Yiaed a9 Bid.
(b) AR SifaHa: 26 TR 1816 U AR STt T wdd Hell St 31 TR
1954 7 e,
it I ; -
(1) 9 (a) (2) ¥ (b) (3) <= (4) THE T
Which one of the following two statements about Pondichery is not true ?
(a) Between 1761 and 1816 the control over Pondicherry swung between France and
Portugal. )
(b) France finally established her rule over Pondicherry on 26 September 1816 and it
continued upto 315t October 1954.
Answer options :
(1) Only (a) (2) Only (b) (3) Both ~ (4) Neither
4. &I A faumits! Sive Ty AE ?

(a) Rd 9 e Hefie fohdtedt ST Sfed STEINITEM o Ao FEed e [ &
& Y419 g4 2.

(b) W TN T S F TH Fraa T SAfurt dar @@=t ot 391 Bl B TH G §t

it S 7

(1) 9% (a) (2) F9 (b) @) (4) THE T

Which one of the following two statements is not correct ?

(@) Several Englishmen both in India and England did not like the establishment of
Indian Association. Hence they thought of an alternative to this organisation.

(b) Sir A.O. Hume, a retired civil servant, desired an organisation which would serve as
a safety valve and thus the Congress was founded. Lord Duffrein, the Governor
General gave him his full support.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
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5. e S fauMRE SR e T

(a) A IRATS ToH TR AR HE& qied1 AGr@nel gh. |d 7ol wies 9 g,
(b) ST FHAE W qARH 7 qEYS ReaHsT AW w6 feaat e,
wEiEr I

(1) +92 (a) (2) 9 (b) (3) oA (4) TG AR

Which one of the following two statements is not correct ?

(@) The first government of free India was led by ]awaharlal Nehru. All the ministers
were the members of the Congress.

(b) Food shortages were met by shipments of food from the Soviet Union and the United
States.

Answer options :

(1) ~ Only (a) (2) Only (b) (3) Both (4)  Neither

6. eI faumidst Hv Qe A ?
(1) ot <o e et 7 oo qeraren stfaerd fertera €.

() SuSE o T 3 stfusrien : qeeetan fue, o e an o W%, Jue aieameR
' a1 feeen foeelt A9 USIfats W6l QUarkd oy arafae.

(3) < Wala TR Wislld el
(4) g < fasin fren awe.
Which one of the following statements is not correct ?

(1) The British attitude towards the INA and its leaders was very hostile.

(2) They put to trial three of its most prominent Officers Gurubakshah Singh Dhillon,
Shah Nawaz Khan and P.K. Sehgal at Delhi Red Fort for fighting against the British.

(3) All of them were convicted.

(4) They were accordingly punished.
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7. YEieds! HUR WG TEe 1917 =0 Hee STRG g ?

(2) T Tt (b) e AR
(c) oA Tt () foed SR
Wﬁw :

(1) (a) T (b) FH (2) (o) T (c) FH
.3 (c) 3nfor (d) Fe @) (a) MO (d) Fer

Who from amongst the following Indians were the members of the Sadler Commission of
1917 ?

(@) Surendranath Banerjee (b) Dadabhai Nauroji

(c) Ashutosh Mukherjee (d) Ziyauddin Ahmed
Answer options : ’

(1) (a) and (b) only (2) (b) and (c) only

(3) (c) and (d) only (4) . (a) and (d) only

8.  Sired el ¢ -

(a) SAITE TBTD () TR el

(b) wighsd fae S (i) W GA UG @H

(c) SBHEHT TBqD (ili) STgA TAI®

(d) firn faean s (iv) fogi Tam Hemg
Tt I

@ ® ( (9
1 @ @) @) @
(2 @@ @) G@ @
(@) (v) @ @ (i)
4) @) (@D @) @

Match the pairs :

(a) Aligarh Movement (i) Mohammad Ali

(b) Mohmaiden Literary Society (ii) Sir Sayyed Ahmed Khan
(c) Ahmediya Movement (iii) Abdul Latif

(d) Jamiya Miliya Islamiya (iv) Mirza Gulam Mohammad

Answer options :

@ B © @
W O @ ) @
@ @ @) @ @
@) v @ 6 @)
@ @ @ @)
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9. RIS YRS TN AR, TS 59 8 1 UGS U0 9rend faemas wm sy
1 S giEfed Teed ?

(1) e AEm

(2) HESR A I STEITAHIAT WIS e
(3) W eIl gfeqdesi= TTaAT

(4) TSI A T

After the formation of Swaraj Party, Gandhiji wanted Congressmen to start constructive
work in villages. What did it not include ?

(1) anti liquor campaign.
(2) social work among depressed classes and untouchables.
(3) establishment of hospitals for all.

(4) establishment of national schools.

10. TH-T-GH BN F ?
(1) euerg=n femr Ares e St
Q) eweEn T S SO TeEt
() %awaw M GeaMIR /e
(4) TITETESA ST AT Wi
What is meant by Sarf-e-Khas ?
(1) Lands belonging to the Nizam of Hyderabad
(2) The title given to the family members of the Nizam of Hyderabad

(3) The Council of advisors of the Nizam of Hyderabad

(4) Part of the Palace of the Nizam of Hyderabad
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11, e Soodl
AR T wiEet ey, W aas - ey
(a) eI (1886) (@) o S
(b) TS (1888) ()  STeTTE RIS
(c) SO (1905) (i) eﬁsf qa
(d) FeEH (1917) (iv) TTeEF™T e
wafdt I

@@ () (@ (@
O @ (@v) @) @)
2 @ @ ) @
@) @ @ 0 @
4) (W) @) @@ @
Match the pairs :

Sessions of the Indian National Presidents .
Congress, Places and Years

(a) Calcutta (1886) (i) Annie Besant

(b) Allahabad (1888) (i) Dadabhai Nauroji

(c) Varanasi (1905) (iiiy George Yul

(d) Calcutta (1917) (iv) Gopalkrishna Ghokhale

Answer options :
@ () () (@
1 @ Gv) @@ (@)
2 @ @ &) @
@) G Gv) @) @)
@)  Gv) @) @@ @
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12, YR STeaT YR G4 A1 Al hgial Ueh ST I3 fergd Sas=ai=n il graraial geierdent
HIVET HRO Fifraert gl ?
(a) AT STHIA He
(b) T=hID
() FAAHS TERA TAH
(d) fafag =
it I :
(1) (a) SO (d) SRR (2)  (b) M (c) TR
(3) (c) M (a) TR (4) (d) SfeT (b) SR
Indian economist Romesh Dutta had written an open letter to Lord Curzon stating which
of the following reasons for the poor economic condition of the farmers ?
(@) Excessive Land Revenue
(b) Droughts
(c) The goverriment overlooked the canals
(d) Various Taxes
Answer options :
(1) (a) and (d) Correct (2) (b) and (c) Correct
(3) (c) and (a) Correct . (4) (d) and (b) Correct
13, EId S faemiteht shivi 9 e ?
(a) Hed fHT sk enfor = sifderd fasit |9 1907 wea Sfawifar 39 $feam sfedew

TN TG Shedl,  oATell AT oAl AT 1911 A3 91 GE=AT haTdl dIecdl.

(b) AR T TH 1913 HeA WT HIAGh! 3 T TR TG Hheft, i1 SARENR fred

Y MEUIFA TRAATHE U TESG, oA ST Hedl,
it I ‘
(1) %9 (a) (2) %dS (b) (3) <= (4) THE! TR
Which one of the following two statements is not correct ? :

(a) Sohan Singh Bhakna and his revolutionary friends set up the Indian Independence
League at California in 1907. The activities of the league increased in 1911 with the
arrival of Lala Har Dayal.

(b) In 1913 Tarakanath founded Ghadar Party at San Fransisco. He toured America
extensively and tried to arouse anti British sentiments among the Indian settlers.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
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14. A faymids! FoR @ o8 ?
(1) YRAR AR Hay FHea BR T Togd.
(2) HREM fERTaR AT FiTwEr fedt o) wel Fvam TR foeam € ufiftedt Sgyeet.
(3) g 91 HaYM Wk geal 11 gL 2001 TR
(4) S THE TR
Which one of the following statements is incorrect ?
(1) India’s relations with United States were never very cordial.
(2) The bone of contention is Indias refusal to sign Nuclear Non Proliferation Treaty.

(3) However the relationship changed after 11 September 2001.
(4) None of the above.

15. A I freris i e e ?
(a) wmmmﬁwmﬁvmmaﬁmﬁmm
(b) wmﬁwﬁﬁﬁm%mqwmwﬁwmwﬁw
ol S
(1) &9 (a) - (2) %9 (b) (@) = (4) Wé' et
Which one of the following two statements is correct ?
(a) The South Indian Liberal Federation was also known as Anti Homerule League.
(b) The South Indian Liberal Federation submitted a report to Montegue that ‘Home
Rule should not be granted to India then. '

Answer options : : ‘
(1) Only () (2) Only (b) (3) Both (4) Neither

16. 1857 =1 I3 GIRACIH! HI0T UM 21 2
(a) WA T R
(b) T R AT
(c) T SRIYEH Jfear
(d) 9@ R
it I :
1) (@), ®) 30 () T (2) () (© 3T (d) F
(3) - (a) 3R (c) Bk (4) (c) S7iYT (d) e
Who from amongst the following participated in the Revolt of 1857 ?
(a) Ramaji Shirsat of Sawantwadi
(b) Zinnat Mahal Begum
(c) Khan Bahadurkhan Rohila

(d) Nusrat Shah
Answer options :

(1) (a), (b) and (c) only : (2) (b), (c) and (d) only
(3) (a) and (c) only (4) (c) and (d) only
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17. o T 1895 T YU MRATT TLHE HIUH USYA™ o e,
e Hag 9 U9 GU e He o SleR e
e FHICTR HEMNW TEHN 3eded A Siael TUH Sl Jae.
1 107 Bt ? |
(1) e (2) SidierE el
(3) FONEE HeaH (4) R iRt
*  She participated in the Pune Session of the Indian National Congress in 1895.
*  She became a doctor after having studied medicine in Mumbai and Europe. |
*  She joined duty as a doctor in a state owned hospital in the Kolhapur state.
Who was she ?
(1) Rakhmabai (2) Anandibai Joshi
(3) Krushnabai Kelavkar (4) Kashibai Kanitkar
18. TEiA faumiis! SR Jwg Awer ?

(1) Tei® 24 7 1947 A @S A ATANTST ATS Ao et § YRA FEHAIT 7.
) & 37 1947 TSt @ RA A TS 9 WU 90 IR F TR SRR Fa.
(3) NG YRAT TaISH S ST Aeaer e TR 2.

(@) HHEE Ao W= HUS IS R TR SRERY i T Sl § YRAeR
AR,

Which one of the following is not correct ?

(1) On24th March 1947 Lord Mountbatten replaced Lord Wavell and became the Viceroy
of India.

(2) On 3 June 1947 he announced division of India into two independent and sovereign
states - India and Pakistan. ’

(3) The Congress never wanted the country’s division on communal lines.

(4) The Congress had to acéept the division because the British Government insisted
upon it for their own seltish reasons.

HEAT HWAEE! ST /SPACE FOR ROUGH WORK

P.T.O.



Admin
Line

Admin
Line


KO6

19.

TeTeieh! sieR faEM hiowd ?

(a) TLH Fed Tard I8 A0 RS FHe o0 2.

(b) e Asfier S WOt ffar defrarht amga.

(c) TIHAT TSI TgHd, wﬁa%{mmmﬁmﬂanﬁima—«ﬁﬁﬁ
@ wgaaaﬁaawmafag@wﬁmmm

qgiEt 39 |
1) () 30 (b) e @) (a) ST (c) B
(3) (b) 3 (c) T (4) A F TR

Which of the following statements are correct ?
(a) The most outstanding cave of the Rastrakut period is the Kailash cave.
(b) The Jain caves at Verul belong to the Digambar sect.

(c) Many beautiful temples were built at Pattakadal, Badami and Ter during the
Chalukyan period.

(d) Trimukhi idol sculpture in the Ghai'apuri caves is well known.
Answer options :

(1) (a) and (b) only (2) (a) and (c) only

(3) (b) and (c) only (4) All the above are correct

20.

JRar W wevid gEe faamitet wive fauam @v - ?

(1) T R Hey Yot T ofsd e, |

(2) ST WU T R 7 IRA FY THAHIGES DIV TgHFI A1,

(3) a, W wiaan, B3t 9 HEHR IR 9 HIVHR TETER A9HS PR (1966) WEATAT T@THRIS
B8 '

(4) VfRTd PR FEEEER T T freeh sufn wha A1 Tey erem Tl T

‘C/\(/;i\rli\tc;ne of the following statements about our relahons with the Soviet Union is not

(1) Our relations with Russia have always remained cordial.

(2) At the global level neither Russia nor India has ever cherished an idea of j joining any
alliance against one another.

(3) Indo Soviet Treaty of Peace, Friendship Cooperation and the Tashkant Agreement
(1966) signed over the Kashmir issue was at the instance of Moscow.

(4)  After the collapse of the Soviet Union the relations between New Delhi and Moscow
are not cordial.
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21, AT WS U, T, G, TE, U9, T9, .09, o7Y, T,U. IS, WH,%F. a1 ST U =i
g wive Mfoeg Snfésey U ST hal. FRe! SFal S0 i ?

(1) THIE. g (2) Y= wR

(3) T* T (4) HATEE TS

After India’s partition, F.N. Souza, S.H. Raza, KH. Ara, H A. Gade, SK. Bakre and one
more person came together to form the Bombay Progressive Artists’ Group. Who was the
sixth person ?

(1) M.F. Hussain (2) Prithviraj Kapoor

(3) AXK. Hangal (4) Annabhau Sathe

22. 1945 7 feeei=a @it foheeam g f§E PSSR Ieiedn e dod! Jahie I gid 2

(a) TS TIRATA TEE (b) YO J6E

(c) . aEHRE SeeH (d) deRIT |Y

it I

1) (@), (b) T (d) FF ) (), () T (d)

3) (a) 3nfUr (b) Fem 4) (a) enfoT (d) B

Who were the lawyers at the time of Azad Hind Sena’s prosecution at Red Fort in Delhi in
1945 ? ‘

(@) Pandit Jawaharlal Nehru (b) Bhoolabhai Desai

(c) Dr. Babasaheb Ambedkar (d) Tej Bahadur Sapru

Answer options :
(1) (a), (b) and (d) only (2) (b), (c) and (d) only

(3) (a) and (b) only (4) (a) and (d) only

Hoedl RIATHTS ST /SPACE FOR ROUGH WORK

P.T.O.



Admin
Line

Admin
Line


KO6

23.

14 | | A

et wifires gRv HEL 1878 =T i Wietletieh! HIv faum sRiaw 3R ?

(a) < it JAER GEE I YRR AOHGT TER URUER FH T FoarE! Al g
Saelt S T4

(b) T FRARRS AR I ANOATE] SYHR A0S SRR J0AT S
Tl

(c) ¥ QI W QT IR Jau=I4 A B,

qgidr 3 ; A

(1) () 3 () FH 2 (@3 (b) ®H

(3) (a), (b) T () R 4) () () wH

Which of the following statements are true about the Vernacular Press Act of 1878 ?

(a) Vernacular Newspaper publishers and printers had to give in writing that they will
not criticize the government policies.

(b) The owners of Printing Press had no nght to go to the court against the action taken
by the government.

(c) This act was applicable only to the Vernacular Newspapers.
Answer options :

(1) (a) and (c) only (2) (a) and (b) only

(3) (a), (b) and (c) only (4) (b)and (c) only

24.

fetees womay fiyrsa Heula Eefieds! wiv fHym ateT o ?
(a) 1910 #LA Y Ufqay® qWr wfae.

(b) 1912 WA sreqRaa Franw wftwg swfaet.

(€ IO A% sfecagarat T

(d) —EEET G AL

Wﬂfﬁ‘ﬁ’(: B
1) (@), (b) M (c) e @) (b) 3 (c) T
3) (b, () MW (d) TR 4)  (a) M0 (d) wed

Which of the following statements are true regarding the depressed classes Mission ?
(@) Arranged a meeting for prohibition of Murali custom in 1910.

(b) Organized a conference for redressal of Untouchability in 1912.

(c) Establishment of Ahilyashram at Pune.

(d) Establishment of Samata Sangh.

Answer options :

(1) (@), (b) and (¢) only (2) (b)and (¢) only.

(3) (b), (c) and (d) only (4) (a) and (d) only
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25. A Sea o
(a) T =R | (i) TAIS-TILIE T AT T Wi TG
(b) TRERH () Heu T el
(€) WH I& (i) e TES! SR W AT WA 4R
(d) e ae (iv) SR A faRet s Sverard
qaiE S

@@ () (9 (d
O @ @ @ 0
@ O @ Gv) G
@) @ G 6 G
@ ) @) @ 0
© "Match the pairs : :
" (a) Ram Joshi (i) Latpat Latpat Tujh Chalana Ga Mothya Nakharyacha

(b) Parashram (i) Sundara Manamadhe Bharali

(c) Sagan Bhau - (iii) Nirmal Mukhada Chandrakar Saral Nakachi Shobhate
Dhar ‘ '

(d) Honaji Bala (iv) Lekarala May Visarali Kasa Ishwartari

Answer options :

@@ () () (d
(1) () (1) (v) (0)
2 @ @ @) @)
@ @ (@v) @ @)
4) @) @) @& @

26. 1858 AT AUI=AT ERATATE JeleTdah! HIvIc aiqal Joac 2
(a) R ifHe SaA GIhR FHEY IR L
(b) WRA GEAITHRIT U dhetel PR YTede! SITdiet.
(c) IS Tt HeIHE TIAH! hel ST,
(d) = ST i Ao foedn S
it I | » .
(1) (a) ¥ () (2)  (b) 3o (d) @) @) (@) (o))
Which of the following terms were not included in the Queen’s proclamation of
1858 ? ' o :
(@) The government will not interfere in the religious life of the Indians.
(b) The treaties signed between the English and the Indian Princes will be honoured.
(c) Only the states with anarchy will be annexed. ‘
(d) Higher caste people will be given jobs.
Answer options : ' oL
(1) (a) and (c) (2)  (byand (d) (3) (b) and (c) (4) (9)and (d)
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27.

16 - A

Hrerarg g, fasrandrg ore, asHten Tawaet it Us[ar T a1 feraisard s e gHe
38 ?

(1) W foems gEmyE TeHe F@e.
@) @ T fie S wewE A
(3) AT T GaRAH AT | S,

(4) A WIAEATAT JITEHRAEE HEWRT S,

What is a common factor among the ladies - Leelatai Patil, Vijayatai Lad, Laxmibai
Nayakwadi and Rajutai Patil ?

(1) They were married according to Satyashodhak rites.
(2) They were the members of Azad Hind Sena.

(3) - They participatéd in the Goa Liberation Movement.
(4) They participated in the Prati Sarkar of Satara.

28.

I5E HH! STEaEEd TR G fagHite! v e @l e ?

(a) WM USHA Hel 9 AfAAie THRAAE THCAIHAT! WA (Self Rule) =t ARTOR
Fett. .

(b) T ML 3BT Yeida et &t fafay =t wi=n Fafis difas aRfedger e
Eci

W‘H’]‘ﬁ’!‘:’
(1) %9 (a) ) Fa@ (b) (G) = (4) THE TR

Which one of the following two statements is not correct about the Nehru Committee
Report ? ‘

(a) It demanded Self Rule of the kind as it existed in other British colonies like Canada
and Australia. ‘

(b) Italso favoured reorganisation of provincial boundaries on their natural geographic
basis. '

Answer options :

(1) Only (a)- (2) Only (b) (3) . Both (4) Neither
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TEAtH! HIv faum W ¥R SRTE @F A R ?

(a) mwmmawmwmmwmmmmm
(b) &g a TooAN BN  WRa IR’ A T

() Tegrarma fig o qoewH & 39 TR oA

(d) TETHMA R T HUHIET R TEE.

it S :

(1) (a) 3 (b) @) (o) s Q)

() () (4) Tw wd

Which of the following statements was/were made by Sir Sayyed Ahmed Khan ?

(a) Unless the modern education and English language are adopted, the progress of
Muslims is difficult.

(b) Hindus and Muslims are the two eyes of an Indian bride.
() Hindu and Muslim are two separate nations in Hindustan.
(d) Muslims should stay away from Indian National Congress.
Answer options :

(1) (a) and (b) (2) () and (d)

(3) (c) only (4) All of the above

-30.

er 2 R o Y o ?

(a) wETEiEER S 9 HIvEE giafTet A davyH ke stegeen efor @@= e
AT T fGR 1. ¥ Tt Tge= FivaEs Fa .

(b) TR Wi e WEHHIA YU YR THAAN qiGaT fee.
qardy I ;
1) F9 (a) 2) a3 (b) 3) I 4) THE &

* Which one of the following two statements is correct ?

(@) Inthe Constituent Assembly the J & K was represented by the Prime Minister Sheikh
Abdullah and his nominees. This was done at the behest of Jawaharlal Nehru.

(b)  All the members of the Constituent Assembly unanimously agreed with the above
suggestion.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
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31.

18 A
wifafde M1 TEe ¢
(a) T ST G YW quAr g few.
(b) TR 1946 AL AL FiaTeA THRA W90 St Ae.
(c) @ ST W%, I I wifareg’ € e e,
et S ;
(1) (a) 37for (b) SRR 31RA, (c) TH IR
(2) (b 3 (c) SRS 3ARA, (a) IH 3.

B) (@), (b), (c) A farum e e,

4) @) (b), (c) et faerm 9 o
Krantisingh Nana Patil :
(a) Supported temple entry of untouchables.

(b) Was forbidden from making public speeches by the: Central Provmces Government
in 1946.

(c) Was given the title Krantisingh (Lion of the Revolutlon) by Acharya PK. Atre
Answer options : - S : :

(1) (a) and (b) are correct, (c) is incorrect.

(2) (b) and (c) are correct, (a)' is incorrect.

(3) _(a), (b), (c) are all correct. ;

(4) (a), (b), (c) are all incorrect.

32. Wﬁﬁw&ﬁﬁﬁ%ﬁ’ :
(a) 1962-63 <1 A - HHTEHEHGR RA Wmmmqﬁﬁﬁ
(b) el fafew WY e mmwamammmm
WEHRFHET FEATEL.
et I : __
Sy ¥EE@E @) ¥ ) @) S
Which of the following two statements is correct ? B
(a) Following the Indo-Chinese border conflict in 1962-63, India | gave large-scale:military
assistance to Bhutan.
(b) Bhutan also had a very cordial relationship with the Bntlsh Govt earher and had all
"' the help from them.
Answer options : ,
1) Only (a) (2) Only (b) (3) Both | o (4) Neithg;ri
HEAT HIUTATST I /SPACE FOR ROUGH WORK -+« - 0 vy ot i
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A FAS AT TN FTEAt @R T [ B, i o¥E "R it gd uH T
WEATHS FesaTd.

ot saR i ?

(1) <AFS Tt

(2) T ERTER

(3) dfrweEg agraTEATA

(4)  THF WEEd

He was the chief priest of the Kali temple of Dakshineshwar near Calcutta. He also said
that all the religions lead to the same God.

Identify the person.

(1) Dayananda Saraswati -

(2) Bharatendu Harishchandra

(3) Bankimchandra Chattopadhyaya
(4) Ramkrishna Paramhamsa

34,

Eia =R faurist S qare R 7

(1) AR TEe NECMAYT SHAE HRERES .

(2) ST A FIVEET AHAET T A9 Fedl.

() WA B ST derEe vsfae el

(4) T vRaE faeia g,

Which one of the following four statements is incorrect ?

(1) Soon after independence raiders from Pakistan invaded Kashmir.
(2) The people of Jammu and Kashmir supported them.

(3) The Indian army was sent to fight against the invaders.
(4) The State got acceded to India.

35.

o, wreRE T 7 SfRIat 1905 s quar TSI FITSE BB Hell. @A ¢ @adtTE
Iuféerd 2. |
(1) T Wi (2) TgNY gEura g
(3) AT FeST TSTH (4) TERM T AT

V.D. Savarkar conducted a bonfire of imported cloth in Pune on 7th October, 1905. This
freedom fighter was also present on the occasion.

(1) Shivram Paranjape (2) Raghunath Purushottam Paranjape
(3) Kashinath Krushnaji Athavale (4) Sakharam Ganesh Deuskar
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36, WRETA FrdISTag S STYFTHHRU q7 T STET FHRETET SIS S, Saist S
S, Hifeaga W @ A2 foe=n v ael. ! Shivdr HREATe il e aiHT
W2 feet ?
Q) g (2) TSTHeN @) TR @) =N
Planned Economic modernisation of India included the construction of three Steel Plants,
with the help of Germany, USSR and Great Britain. Which of them was visited by Nikita

Khrushchev ? , :
(1) Bhilai (2) Rourkela (3) Durgapur (4) Bokaro

37. ATESA WA T SOOI SF Hecrql fammfanasd wen foerma st deft wmn i@
WA FET T N ATTe! F., AT Toh T TGS SRR SN, GE T v ?
(1) 3tk qen SFEifTw ST{EYU™ IReg (CSIR)
(2) T qAYd AT I (T1F R)
(3) WA fagm & (11Sc)
(4) YWRGE WEfiER S (11 T)
Renowned Scientist Homi Bhabha founded and directed two.major Scientific Institutions
that symbolise Nehruvian Vision. One of them was Atomic Energy Commission. The
other was :
(1) Council for Scientific and Industrial Research
(2) Tata Institute of Fundamental Research

(3) Indian Institute of Science
(4) Indian Institute of Technology

38. fafay fawai= o =oH <. WW@WWWWW&TW
(@) W EHA HHIA
(b) = frmid e

(c) e wfem a7 $fesm et afs WA

(d) ¥y U wfHEfe

W‘hﬁ'ﬁi‘:

(1) %93 (b), (c) 3 (d) (2) ¥ (a), (b) AN (c)
(3) ¥ (a) W (d) (4) ¥ (a), (b), (c) 3T (d)

As an expert on various subjects, Dr Babasaheb Ambedkar testified before :
(@) Simon Commission '

(b) University Reforms Committee

(c) Royal Commission on Indian Currency and Finance

(d) South bourough Committee

Answer options : '

(1) (b), (c) and (d) only (2)  (a), (b) and (c) only

(3) (a) and (d) only (4) All (a), (b), (c) and (d)

| S
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21 KO6
AT ToY 1T B ?
(1) TN A1 FRUT=A e arE So

(2)  E V| HEvET e -t qre fen o S deod

(3) W Inftr & WA Seur e et wer

(4) T #ta w1 sty e fHesm@n @ o wuy

What was the Tebhaga Struggle ?

(1) Struggle for independence of Tebhaga region.

(2) Struggle for keeping two-thirds of the harvest for the share-cropper.
(3) Struggle for a small piece of land between India and East Pakistan.

(4) Struggle for keeping at least one-half of the harvest for the share-cropper. |

40.

i A fauriE B s oy ?

(a) WWWWHW/WWWWWWWH
FH1qH frFfaum w13 & wfrsarm .

(b) SYTATEIE! JUEY YRA WY, ANER. T 9 9ige frwaom #is & wifhmen .
uIiE 99T

W ¥FEE@ @ ¥ @ W @ =@
Which one of the following two is incorrect ?

(a) After partition many jute and cotton textile factories had to be closed down for
shortage of raw material as major jute and cotton growing areas went to Pakistan.

(b) There was also a shortage of food-grains in India as large parts of wheat and rice
growing areas were now parts of Pakistan.

Answer options :

(1) Only (a) (2) Only (b) (3) Both " (4) Neither
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41. Gl Ao Genist RO 9 wrs foshTor e siea oo :

(a) HTCTSATAT IUATE T | () e, S

b) TR fay (i) AT Y FU
(c) T wye foriy (i) GE, fog

(d) TR fRy (V) SRR, e
ot 6 ;

(@ (b (o) (d)
M @) 6 @ )
(2 (v) (@) @) )
@) (@) @Gv) @@ (@)
@ 0 6 @ W |
Match the causes of Peasant Struggles with their places.

(a) Canal water rates (i) Burdwan, Bengal
(b) Anti Zamindari (ii) | Kalipatnam, Andhra Pradesh
(c) Anti water tax (i) Sukur, Sindh

(d) Anti revenue enhancement (iv) Amritsar, Punjab
AAnswer options : '
(@ () (o) (d)
@ @) @ @ @)
(2 (v) (@) @) ()
@) @) (@) @@ @)
(4) O @G () (v)

42. . S G TR Tafi RS G T Sl HOR I SRR el ?
(1) W SR (2) T T
3) +E® M 4) W sman
Before which Commission did Mahatma Jyotiba Phule empha51se the need for the provision
of Compulsory Primary Education ?
1) Simon Commission (2) Hunter Commission

.(3) Nehru Commission (4) Morle - Minto Commission

HoAT HIHTEIS W /SPACE FOR ROUGH WORK
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43. I3 N faumite! SR 9T g ?
(a) TN HHIEH A i TR R/ Yol TeRTesrd g’ /el S ﬁawr&ﬁam
EEANETH
(b) < S, ofvE, &, Wamﬁﬁw&éﬁmw
it I ~
(1) 9% (a) (2) %S (b) (3 TR 4 T
Which one of the following two statements is correct ?
(@) Raja Rammohan Roy regarded as ‘the father of the Indian Renaissance” studied in
Varanasi and Patna. '
(b) He published journals in Bengali, Persian, Hindi, English and Sanskrit.
Answer options :
(1) Only (a) (2) Only (b) (3) Both . (4) Neither
44, oA Pl TAvd W TR SR T 3. e T AR T GIRE
giee & FHoarE Ion el f99 4 w@a: Yol 91 owe. a1 e A9 6 ?
(1) F0 FHidas (2) TINH HiaS
(3) TEEg FiE | (4) TOITd higeS |
Chhatrapati Shahu Maharaj actively discouraged untouchability. He motivated a person
to start ‘Satya Sudharak’” Hotel in Kolhapur which he would regularly visit. Name the
person.
(1) Krishna Kamble (2) Gangaram Kamble
(3) Ramchandra Kamble (4) Ganpat Kamble
45. dfsq WEE SO gy ehde, gﬁw&rg@nﬁm Wwﬁmmm

fh‘

T
(1) e el @ e T IS o,

Q) T A CE, SFER R o FEE TR 2.

@) @ fafte faer s @ *el.
(4) IO THE AR

_ Which one of the following statements about Pandita Ramabai who was very learned,
“beautiful and intelligent is not correct 7

(1) Shrinivas Shastri was her only brother
(2) Many ICS officers wanted to marry her
(3) She married Bipin Bihari Das’

. (4)-  None of the above.
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46. 15 R, 1955 ISt T THAT AR RIERITaR THed 991 wielt. Iraed! Tt S 9eem
T T g o, e A1 TeuTeE W HeRTg e FEE 7 SUR TR, § 9ed
0T ?

(1) E.*. Ed | @) . e
@) fa. e (4) THFWE A
On 15t November 1955, when the States ‘Reorganization Commission’s recommendations

were discussed in the Parliament, a member warned, “ Anything short of Samyukta
Maharashtra with Bombay as a capital, will not be acceptable”. Who was the MP ? ‘

(1) SK Patil (2) C.D. Deshmukh
(3) N.V. Gadgil (4) Shankarrao Deo

47. @ 3 faumits! HvR drg aR 2 |
(a) S 1947 EY 3SR ST JATE A T T, Wi T Aoarn 3991 S e, |
(b) wwﬁwaﬁl%mﬁmﬁmmwmm%ﬁ |
ot @y |
(1) 9 (a) (2) %92 (b) 3 o 4) wETE g
Which one of the following two statements is correct ?
(a) InJune 1947 the states of Hyderabad and Junagarh expressed their desire to become

independent sovereign states. p |
(b) The British Govt. prevailed upon them in July 1947 either to join Indla or Pakistan. é
Answer options : ;
(1) Only (a) (2) Only (b) (3) Both (4) Neither

48. Y&t B faumide! SV T R ?
(a) THFENA YRIG AT 24 1 WS GeeT= W&l TEA I Al T Hiedl.
(b) Wwﬁwmmmamﬁwmﬁ B,
it I | f
(1) ¥ (a) (2 ¥ (b) (@) 4 ETE
Which one of the following two statements is correct ?

(@) The 24th Amendment Bill which was passed in the Lok Sabha was defeated in Rajya
Sabha by two votes.

(b) It was to terminate the privy purses and privileges of the rulers of the former Indian
States.

Answer options :
(1) Only (a) (2)  Only (b) (3) Both (4) Neither

Sy AR

e e A oA s 80 RO o i O
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49, e QA Fow e ari R 2

(a) TIERSHT SATIeT AT LARIBTHTS! HIeRwaldie ST STFHIRT [Sd HHE s ramasid
TrETid A wied! - o at 240 fF.491. 2.

(b) m%ﬁ—vﬁwwmﬁ%awmﬁwa{ﬁﬁ

qqidt I

(1) ¥ () (2) FB (b) (3) = (4) T TR

Which one of the following two statements is incorrect ? ’

(@) Gandhiji undertook his Saltmarch from his Ashram in Sabarmati to the Gujarat
coastal town of Dandi - a distance of 240 kms.

(b) The volunteers covered the distance in 24 days.

Answer options :

(1)  Only (a) (2) Only (b) (3) Both (4) Neither.

50. gﬁamﬁmﬁﬁmﬁmm7
(a) Wﬁmwwéqaﬁmﬁ%mﬂm@ﬁ ‘Wﬂ@mmaﬁ'mmﬁ@aﬁzg@n

e 9 weden ATEE® § AU wefael.

(b) TS 1961 R e AT el § AR SApkTe i SHTTETE YT
e .

W“'ﬂ"i‘aﬁ"\':

1) @ @ @ ¥ ) @ T @ T

Which one of the following two statements is correct ?

(@) Political unification was a great problem after independence France supported the
claim of Portugal that Goa was one of its provmces and came to Portugals help with
men and machines.

(b) Portuguese surrendered Goa in 1961 and soon after colonies of Africa also got free
of Portuguese.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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YR IR RV HEA S AT 3T hell 3R ?

A AT ABIE! | S FHeA WA T Fell. AR IR o AR SHedfirm
HETRE I GEAd 3. SR Safads deTat 3T 3Nfol @ SFedn 3 Gufed e 3
. '

(1) YR T wiE, M

(2) YRAE UL F9, ARA feh

(3) WA WFETE! &, HLAL 19

(4) GESEE T M. F. WEd

Which ,organization'and a person are referred to in the statements given below ?

He made it a democratic and mass organization. Due to him the peasants and later on

even the industrial workers joined this organization. The workers joined it as individuals .

and not in separate organized capacity.

(1) Indian National Congress, Gandhiji

(2) Indian National Congress, Lokmanya Tilak
(3) The Communist Pafty of India, M.N. Roy
(4) The Socialists, G.K. Gokhale

52, Wﬁeqﬁmmwﬁwm@ma@ﬁww SME FaUS Gl 6
© STTEE ® HeH BN

1) e Toew frue srEifaey
(2) v gHfew FrEfaTem

(3) gt forged

(4) foeeX s

Name the Cultural Front of the Communist Party of Ind1a whose members mcluded Balraj
Sahni and Kaifi Azmi.

(1) ' Indian People’s Theatre Association
(2) Progressive Dramatic Association
(3) Prithvi Théat‘res

(4) Theatre Academy

HoeAT HIMTETSE 9RM /SPACE FOR ROUGH WORK
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53.

27 KO6
e 91 faumitst Fo g og ?
(a) T THHIET U9 A1 9= AESenad G& wal 919 e WA fragor feet s

(b) wmmwmmmwmwmw

it I :

(1) FES () @) F9% (b) @ @ 4) TR

Which one of the following two statements is correct ?

(@) Raja Rammohan Roy established Vedanta College where Indian learmng alone was
offered.

b) Raja Rammohan Roy celebrated the success of the revolut'ioh in Spain by hosting a
) Y P Y 4
public dinner.

Answer options :

(1) Only (a) (2) Only (b) (3) Both - (4) Neither

54.

R FIH! S0 fF9m g 3 ?

(a) TR e Sl 1859 T W%wmmﬁwm
wwﬁmmwﬁw@awﬁmﬂﬁaaﬁﬁﬁé

(b) TEASTET FTHTHR TBIBEET Wi FHRA FIRA. 7 Wi 9 foTramar w1 fe=a.
it 9 ;
(1) ¥9@ (a) (2) B (b) (3) o (4) THR TR

Which one of the following two statements is not correct ?

a) Under the Inland Emigration Act of 1859, plantation workers (Assam) were not
&r P
permitted to leave the tea gardens without permission which was rarely granted.

(b) Under the influence of Gandhiji's non-cooperation movement they defied the
authorities, left the plantations and reached home unscathed.

Answer options:

(1) Only (a) (2) Only (b) (3) Both (4) Neither

HoAl SIS AT /SPACE FOR ROUGH WORK
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55.

e faumiet HIQ TETa a1 ?

1) ek iR G Aieen qHeE! THvar e,
(2) e et oA A=A FArEr
(3) forem ol i gt (W) oM.

(4) FTA ATIR FIURE AT TR

Which one of the following is incorrect ? _

(1) A womens regiment of Azad Hind Fauj was formed.

(2) It was under the command of Captain Lakshmi Subramaniam.
(3) It was called Rani Jhansi Regiment.

(4) None of the above three is incorrect.

28 A

56.

1921 Weftel TR Ve TSI WA W RO 48 < A e €9 g,
(1) ¥SH R SR (2) wfHTER e Fleh Fera ey
(3)  TSHE FIIE TR (4) IR TRUfe
A Highlight of the Madras City Movement in 1921 was a four month long strike at :
(1) Madras Bar Council (2) _ Buckingham and Carnatic Textile Mills

+(3) Rajahmundry Cloth Market - = (4) Guntur Municipality

57.

feam - (@) A foew i e S,
FRO - (b) T FIN el e SYSidie R SR 9eH e Te.
it I :

(1) (a)m(b)ﬁaﬁma@aa(b)%(a)émw@wa@
(2) (a) U AR, WY (b) TF TR.
(3) (a) THMD 3T (b) THIY IR,

(@) (a) IR, (b) TR AR T T (a) = S TR T
Assertion - (@) M.A. Jinnah left the Congress

Reason - (b) He disliked the ill-dressed Hmdustam speaking members of the
Congress. u-‘

Answer options :

(1) Both (a) and (b) are true and (b) is the correct explanation for (a).
(2) (a)is true but (b) is not.

(3) (a)is false, (b) is false.

(4) (a) is true, (b) is true but not the correct explanation of (a).
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58. ECIETE! Tadeeal HRHid JEIais! SV fauM gahte 3R ?

1) fsifdT Meama Taaere: 39 SHeed Ao Jeuiq o=t gEam awe.

(2) SR o T e S A W A TReed Fa.

() TFEIEHEE YAk FENR I F TAA § B,

() <7 1967 wed Ufsh s a1 wewist yoiEn el

Which statement about the Naxalbari movement is wrong ?

(1) It began as a land dispute in Naxalbari in Darjeeling district.

(2) The rural poor were mobilised against the landlords by the Kisan Parishad.
(3) Kanu Sanyal was the leader of the peasants in Naxalbari.

4) * Radio Peking praised this struggle in June 1967.

59, 1927ma’r T, ATATHUAT AARAGIE! T Areted 91 g wEwAme <o q
fAdauued TEieEr SHa Y B,

(1) WWWWW
(2) EH WA 6

() THEURF Headl
(4) fespa feqanifion g

This organisation was established in 1927 with Dr. Ambedkar as its President and its
activities included interdining between Dalits and Non Dalits.

(1) Akhil Bhartiya Bahishkrut Samaj Parishad
(2) Samaj Samata Sangh
(3) Asprushyoddharak Mandali

(4) Bahishkrut Hitakarini Sabha
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60.

30 A

T G EAS WM Ao el TauMiieh! HIvd gt 3R ?

(1) @ TS GE AT IS Hell it AH 1857 ST ISTATHTAT TSGR Tk,

(2) i giami 7 JefavarEn TaE el Sl @i sus RIE e el

(3) i gfemi e foridt Felt wt wi Ui Hee .

(4) wﬁwwwmaﬁw&%ﬁ@mwﬁwagﬁm
TR s el § fefguaraa.

Which one of the following statements about Sir Syed Ahmed Khan is incorrect ?

(1) He tried to convince the British that the Mushms were not respon51b1e for the 1857
upheaval.

(2) He persuaded the Muslims to avail themselves of the Enghsh education.

(3) He also requested them to show their support to the British rule.
(4) __He wrote two books after 1857 one depicting causes of upheaval and the other to
show the effects thereof.

61. mwﬁﬁwmaﬁwwmﬁﬁmﬁmw '
314 ?
(1) Teafas w=ieR ' (2) 3w feudla @AW &
(3) faxdt 4y SR @EEt v ~
Which of the following position of hard and soft rocks is necessary for the productlon of
Yardang in the desert ?
(1) Parallel to the horizon (2) __One by one in vertical sﬁuatu)n
(3) Oblique (4) Indefinite in the form

62. rhﬁawwﬁsﬁlwmmgﬁaﬁﬁamﬁﬁaﬁﬁﬁwa@?

(a) TfU-vf=w A e WWWW—W@WlW
TE ol 9 - y&e YT AR 1 Fediaten weaa. :

(b) qwmﬁm—wmﬁmﬁmmw

1) HaS (a) (2) 9@ (b) @ ;F @ wETR

Which one of the following two statements is incorrect about the normal dates of

Monsoons ?

(a) The South West Monsoons start retreating from the- North West India around
15t September and retreat from South East around 15t December.

"(b) From the Central Maharashtra the South West Monsoons retreat in the last week of

September.
Answer options : , o
(1) Only (a) (2) Only (b) (3) Both (4) Neither
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63. mﬁaﬁwwﬁw <T@ HH T :

(1) TS, aﬁrun, BREEETE, HeaHver

(2) TS, ke, dRN, FRTEETS

(3) IR, TS, TN, IS

(8) R, A, sETe, e

Arrange the following peaks of Maharashtra in the ascending order of their heights :
(1) Rajgarh, Torna, Harishchandragarh, Trimbakeshwar

(2) Rajgarh, Trimbak'eéhwar, Torna, Harishchandragarh

(3) Trimbakeshwar, Rajgarh, Torna, Harishchandragarh
(4) Trimbakeshwar, Torna, Harishchandragarh, Rajgarh

| 64. EEAerie! v/ HI faem,/ faam st T@/a?
(a) 15 3T 1999 s Tl foeeam fasmem wm.
(b) Tl Ay T fRTTeR T e
() TEHA AR WA FeeT™ ok,

Wfﬁ I
(1) faum (a) (2) Taum (a) anfor (b)
@) faum (a) anfn () @) faum (a), ®) 3R (c)

Which of the following statements is/are incorrect ?

(@) Parbhani district was divided on 15t August 1999.

(b) Hingoli is located on the bank of the river Kayadhu.

(c) Vasmat tahsil is in Parbhani district. |

Answér options :

(1) Statement (a) (2) Statements (a) and (b)

(3) Statements (a) and (c) (4) Statements (a), (b) and (c)
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65. Tiawg aftla ATRIE FRLUT= SMURER SATER IAREN ATHE, AT FhNY T
foenfad #a, 7 @@ ?

(1) T, ¥, I
() e, G, FeaTed, e, SEHad
(3) 3o, ARM, veRar w4t

() g, seERdt, e, gafsidtd

Based on the genetic classification of Powel, Davis further classified the valley types
according to slopes. What are they ?

(1) Young, Mature, Old
(2) Consequent, Subsequent, Obsequent} Reséquent, Insequent
(3) ~ Syncline, Anticlyne, Faultline

(4) Antecedent, Superimposed, Drowned, Rejuvenated

66. Wmmaaﬁwzomwwwﬁwmwmﬁwmm
T[T AT A A 931y fraet

(1) e, STES, NEAHRN, M, TENE |

(@) oGS, W, weE, T, AT,
(3) WA, JATES, FAleH, Hﬁm RN

(4) s, SIS, TERTE, AEAE, TETRY

According to the National Tiger Conservation Authority’s report on Tiger Census of 2014,
select the proper optlon of states with the hlghest number of tigers in a descending
order :

(1) Karnataka, Uﬁarakhand, Madhya Pradesh, Tamil Nadu, Maharashtra
(2) Uttarakhand, Madhya Pradesh, Karnataka, Maharaéhtra, Tamil Nadu
(3) Madhya Pradesh, Uttarakhand, Karnataka, Tamil Nadu, Maharashtra
(4) Karnataka, Uttarakhand, Maharashtra, Tamil Nadu, Madhya Pradesh
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67. 2011 = SFVHEEHIG GEiel QF Tagiteht ivid 3&rg & ? -
(a) T, T IR, IO, IO Ferem feimoi W 925 e HHt o,
(b) TR q Ticar fSegama famuiR TUEst 925 van iy k.
it I
(1) 93 (a) (2 F9% (b) (3) < (4) TR TR
Which one of the following two statements is incorrect in respect of 2011 census ?
(@) Mumbai, Mumbai Suburban, Pune, Thane have less sex ratio (<925)
(b) Gadchiroli and Gondia have higher sex ratio than the average ( > 925)

Answer options : .
(1) Only (a) (2) Only (b) (3) Both (4) Neither

68. T T faymids! Hivr @Y 3TE ?
T IR T ITvaTe qeE T Wed S a1 Afave ygfta aamEiie! T SR,
(b) TiHeH qAE TSI FYT A &GS THAHS AR,
watdt Y |
(1) 9 (a) (2 9 (b) (3) < (4) TR
Which one of the following two statements is correct ?

(@) Hussain Sagar is a fresh water lake in the city of Bhopal and is one of the most
polluted.

(b) Loktak lake is situated in Ladakh beyond the Chang La Pass.
Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

69. R < fauriiet SR 9 3R ?

(a) memwmmawmmﬁq@mm
HREAT &7 A

(b) oA R THAATN WY IV HfeHT Y THAE! SROATAT TF JaATAE! QA AN
Tgidr 39T ; ’
(1) %9 (a) (2) %I (b) (3) TR (4) THE R

Which one of the following two statements is correct ? ’

(@) In Maharashtra Tropical Moist Deciduous Forests and Tropical Thorn Forests are
almost equal in extent.

(b) " The above two together however are not even equal to a third of Trop1ca1 Dry
Deciduous Forests in extent.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
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70. @ faur e
(@) T AT e Tet A9 ceaf wves.
(b) XS S Tt wen Fraa e .
(c) RATSAT THVT IS QSIS 60% HIST HERTLIA L.
it I
(1) & R (a) SR ST, (2) - e Fau (b) A SR,
(3) faum (a) sufr (b) SR A (4) faum (o) sfor (c) SR e,

Observe the following statements :

U g

(@) Iron ore is found at Pimpalgao hill of Warora tahsil.
(b) Coal is exported from Redi fort.

| BSEN e I o o W s . e

(c)- Out of the total reserves of manganese found in India 60% reserves are found in
Maharashtra.

Answer options :
(1) Only statement (a) is correct (2) Only statement (b) is correct

(3) Statements (a) and (b) are correct (4) Statements (b) and (c) are correct

71. e O faumitet SR dva e ?
(a) T TS bl qayar AR YaUIHRE! e,
(b) WRAWIT Walq 9 gayan TR TR I,
TR |
() %9 () (2) s (b) @ A (4) THE TE |
Which one of the following two statements is correct ?
(a) Gokak waterfalls on the Ghataprabha river resemble Niagra Waterfalls.

(b) The highest waterfalls in India are located on the Sharavati River.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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72. GHd faum v
(a) Trcilu=a=a1 frraredid S TEEH TUN.
(b) fogwRx, FAT & -1 ac@Ie TS IR |
() TTETE el e Fr ST A SRe .
waiEt S
(1) K fauM (a) TR TR, ) foum (a) 3nfT (b) TR e
@) faum @) afn @ Wama (@) fEER (), () S (o) R TR,

Observe the following statements :

(@) The cyclones on the coast of Philippines are knoWn as Typhoons.

(b) Victor, Katrina are the names of Hurricane cyclones

(c) Thecyclones onglnating near the coast of Florida in US.A. are known as Tornadoes
| Anéwer options

(1) Only statement (a) is correct (2) Statements (a) and (b) are correct

(3) Statements (b) and (c) are correct (4) Statements (a), (b) and (c) are correct.

1) mﬁmﬁﬁﬁma@nwaﬁ

() mammmmwmm/wmmémwﬁaﬂ%
(3) NG 9 WREIAE TS {eq o forean Suai=an qroft sredreet I el IR

(4) e Teh, faerE o gaerers qro fresd @ diihedren o, ded, $eE.

Wthh one of the following statements about the Indus Comm1ssmn is not true ?
1) The Indus Commission has been set up by the World Bank. | -

(2) It is a temporary Commission to look after the disagreement arisir{'g between India
and Pakistan.

(3) As aresult a treaty was signed between India and Pakistan for sharing waters of
Indus and its tributaries.

(4) India gets waters of Ravi, Beas and Satluj and Pakistan gets waters of Chenab,
. Jhelum and Indus. -
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74, WeftedEt FoR e s T ?
(1) TrarEr= YR e T ThEEeas 3h.
(2) Sferee @ wiar TSF IR,
(3) TTEHIIR TR AR GSHA GFSIAeT |IS TEad.
(4) = T FIRERE TaR g
Which of the following stateﬁents is incorrect ?

(1) Calcium is converted into graphite due to the heat of lava.

(2) Anthracite is a type of metamorphic rock.

e L .ol N

(3) Mineral oil deposits are found in the carbonaceous rocks.

(4) Dyke rocks are made of lava.

75. de A Faumie) SIvR IR TR 2
(a) delfeH F_T HIEH TEHEAT YU aﬂaa%
(b) Tefewh 7 g, Aegfafm, Mew 9 JTaSig .
a3
W @ @ e @ @ @ R
Which one of the following two statemenfs is correct ?
(a) Lateritic soils are typical soils of Monsoon climate.
(b) Lateritic soils are rich in iron, aluminium, potash and lime.

Answer Options :

(1‘) Only (a) (2) Only (b) (3) Both (4) Neither
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76. e o :
e YaYST
(a) ema#ﬂr () drer Haye
(b) ST ) W SEC
(© d i) e e
(d) e fiv) TFRIN gaee
Taie I
(@ () () (d)
M @ @ @ o
@ O @ @@ G
@) @) @ O @
@ @ @ @ 0
Match the following :
District Waterfall
() Ahmadnagar () Sautada waterfall
() Amravati (i) Sahastrakund waterfall
(c) Beed (i) Randha waterfall
(@) Yavatmal (iv) Muktagiri waterfall
Ahswgr opfipns :
@ ® © @
M @ 6@ @ O
@ O @ @ 6
@) G v () ()
4) (@v) @ @) @
=T FTHIETA WA /SPACE FOR ROUGH WORK
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77. QR < faumite! S arg 1R ?
(@) TS I S I Aol GRS S § 9 SR TR, |
(b) IR, YIS, waﬁammmmmm
T I
() 99 (a) @ FBE®) @) (4) TR
Which one of the following two statements is correct ?

(a) Karewas are the lacustrine deposits in the Valley df] and K.

(b) The Karewas of Palampur, Pulwama and Kulgaon are known for superior quality
Walnuts.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

78. ‘Ui’ TG TeheiaNa YOI TGTaR S G R0 HIOH oTRd ?

1) Ieed 9 fager ) (2) wHET 9 A

(3) TEhaAHA I IS » (4) TS & ‘ZIT:RﬂH

Which are the two dams constructed on Purna river under Project ‘Purna’ ?
(1) Yeldari and Siddheshwar ~  (2) - Kaveri and Ujani

(3) Khadakwasla and Ujani (4) Jaikwadi and Panshet

79. TR & Yt HIv faum g 1R ?
(a) ﬁﬁéﬁ@ﬁ%ﬂﬂmmﬁaﬁwwﬁa@ﬂ
(b) mwmaﬁmmmwmmmamww
FHTYE AR FEUMMA.
(1) e (a) (2) ¥ (b) @) ;A (4) TS TR
Which one of the following two statements is correct ?

(@) Nellori, Bellary, Gureji, Keshri are the breeds of sheep in India.

(b) Indian wool is inferior to that of Australia and South Africa in quality and is called
as coarse carpet wool. .

Answer options :
(1) Only (a) (2) Only () (3) Both (4) Neither
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80. TEId I faumide! HvR g e ?
(a) WG GUET e FHeid, Traredt, TR A9 ST Hedl A1 led g raqaneid Tt
(b) Ufvem SMEHEA Fuia e 914 frs S Adm.
T I
1) ¥BE () ¥ 3 A @) T

Which one of the following two statements is incorrect ?

(@) Rice research institutes have been established at Karjat, Khopoli, Ratnagiri but not
at Sawant wadi.

(b) In West Bengal three crops of rice are taken in a year.
Answer options :

(1) Only (a) 2 Only(®)  (3) Both (4) Neither

1 fermemmdia 4 fEet 75 . @wia g faum frae.
(1) =T e fenrae A AeTERl S,
() e fEs SR T G Siea.
(3) I S HRRH TErEH .
@) fog foe sEvmae you dewriEh wied.

Consider the following four passes of Himalayas. Which one has not been stated
correctly ? '

(1) Bara Lacha connects Himachal with Leh Ladakh. »
(2) Burzil pass connects Shrinagar with Ganga valley.
(3) Chang La connects Karakoram with Ladakh.

(4) Diphu pass connects Arunachal Pradesh with Mandalay.
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82.

40

ECIGINRCRIE R I |

(a) TR s %hﬁw R SMgH m @S,

(b) STIgH TSF WIfTH @SF T,

i I

(1) e faum (a) S TR, (2) e faum (b) SR .

() faum (a) anfon (b) IR 3Teq. (4) faum (a) enf7 (b) SR T
Observe the following statements :

(a) Exrratic rocks are found in the region of glacier work.

(b)  Erratic rock is a local rock.

Answer options :

(1) Only statement (a) is correct (2) Only statement (b) is correct

(3) Statements (a) and (b) are correct (4) Statements (a) and (b) are incorrect

83.

e faum e

(@) YT SUE WAaT 5.12 W9 9 w9 AL TR

(b) 9T [HAETE SAT 2.8 U9 Yid 99 €.491. TR

Taidt s _

(1) % faum (a) SRR . (2) K AU (b) S AR,

(3) faum (a) anfor (b) SR A (4) faum (a) 3707 (b) ISR TN
Observe the following statements : | ‘

(a) The average density of the earth is 5.12 gram/cubic centimeter.

(b) The density of the earth’s crust is 2.8 gram/cubic centimeter.
Answer options :

(1)  Only statement (a) is correct (2) Only statement (b) is correct

(3) Statements (a) and (b) are correct (4) Statements (a) and (b) are incorrect
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84. faufirlt = e ?
(1) dTeedl Foua AR G S TR ATl Y3THR
(2) TR G FEHS TR AR YRR
(3) dIBAS YRR ARAT=AT W0 HATHeS TIR AT YRR
(4) TErecT= YO S TR Fe Y3TRR |
What is inselberg ?

(1) Land form produced by erosional work of wind in desert area.
(2) Land form produced by erosional work of river.
(3) Land form produced by depositional work of wind in desert area.

(4) Land form produced by depositional work of glacier.

85. Weftet fearer wer :
() FHREE TEE § Wid THRE GSH R
(b) SFHARTET TEFMEA A= JHIUT ST 3TE.
it I
(1) e faum (a) SR TR,
() R faum (b) TR TR,
@) faum (a) SftT (b) SR aRA.
4) faum (a) anfer (b) SRR RN
Observe the following‘statements :
(@) Arenaceous rocks are the types of sedimentary rocks.
(b) The percentage of sand is high in Arenaceous rocks.
Answer options :
(1) Only statement (a) is correct
(2) Only statement (b) is correct
(3) Statements (a) and (b) are correct -

(4) Statements (a) and (b) are incorrect

HoAT HITTHS WRT /SPACE FOR ROUGH WORK
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86. mawmﬁmmmmmammﬁ
H1d TEa A=, FR

(1) 25 Y IW ALTATAHRS YN @S AT .

) vafaa s aqgyemgre feger aftom . o | ‘
(8)  Té TRRGTTRISR, ST et s fe e, |

(4) 09 wd

Regular and continuous cycle of ocean currents like Atlantic and Pacific oceans, does not
run in the Indian ocean; because :

- (1) Region beyond 25°N latitude is occupied by continents.
(2) Direction of the ocean current is deflected by conventional winds.
(3) The direction of Monsoon on Indian ocean changes in various seasons. -

(4) All the above.

7. @aﬁﬁmﬁﬁwhmv
() S A S At fasom fies TR A 9 A 7 Hefier At TR FRA. IR

IS LIS |aid HIS 91 ST
(b) TR A TSI S YT W SR .
wafdt v |
M FEE @ e @ W @ wem

Which one of the following two statements is correct ?

() Copper when alloyed with zinc is called ‘brass’ and with tin as ‘bronze’. Rajasthan
has the largest deposits of copper ore.

(b) Madhya Pradesh stands first in India in the production of copper ore.

Answer options :

(1) Only (a) @ Ony®) () Both 4) Neithe;
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e & it SR v T ?

() TR SRV HERTE TR T W SR o,

(b) 3AH AT AANOA & TGaet Tt e DG I HEAH e aNe e 7eg aX Feeadt - -
HIGAR.

qgier S

1) ¥ @) @ ¥ ) @ ¥ @ wETE

Which one of the following two statements is correct ? |

(@) Great Indian Bustard Sanctuary is a sanctuary which is the largest in extent in the
State of Maharashtra.

(b) Recently its size has been increased even further not because of the rise in no. of
Maldhoks but because of ubiquitous Black bucks.

Answer options :

(1) Only (a) (2) Only (b) (3)’ Both (4 Neither

89.

22 5[ 2014 TS AT FAHISAT dSHTq YEITIh! RV TS SRR TRET AT Foras]

O AT ?
(1) o e, ufvem W

(2) e T, A A S
(3) it 1 =@, Y feneraa A e

@ IRt T Ik, HIAR T ek

Which of the following were included in the World Heritage List in the meetmg of UNESCO,

held on 22" June 2014 ?

"~ (1) Red Fort, Western Ghats.

(2) Elephanta Caves, Manas Wildlife Sanctuary.
(3) Rani Ki Baav, Great Himalayan National Park.

(4) Nandadevi National Park, Kaziranga National Park.
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90. femeramed SfmimeT ST STeu fE<=n A HW @l ¢

(1) e, i, s, fR-giste

(2) e, fR-gisTes, Ffefer, hremroit

@) TR-visTes, sfew, s, Fmamo

@) 9fsie, SR, fR-vistes, st

Arrange the passes in a correct sequence from south to north in the Himalayas :
(1) Kalapani, Burzil, Banihal, Pir-Panjal

(2) Banihal, Pir-Panjal, Burzil, Kalapani

(3) Pir-Panjal, Banihal, Burzil, Kalapani

(4) Burzil, Kalapani, Pir-Panjal, Banihal

91. 2014 <A TATRUITATIF STEAAIR T aifas 20 W weudat R iE i
3T El & e walfus wgfia smwa.
(1) 10, T, =21 (2) 11, =, Heg
(3) 12,9, HeE ) 13, feeh, Frerm |
According to the Environmental Report of 2014, cities from India are among
the 20 most polluted cities in theworldand __ -~ and are the most polluted
of them.
Choose proper options from following :
(1) 10, Kolkata, Chennai ' (2) 11, Kochi, Mumbai
(3) 12, Pune, Mumbai (4) 13, Delhi, Kolkata

e- e Ho fauE ara R ?
(1) IRATSAT THYT AT 1% Fa0 & 8 GRES et 3R,
| (2) T w12 WR FRe Team/ R Fenfiw 2 R TR S,
(3) YRaT gald Afu® GREE qfem Smams SR
(4) b« wd
Which one of the following statements is correct ?
(1) Less than 1% of the country’s land area is under mangroves.
(2) Mangroves have been reported in all the 12 coastal states/UTs.

(3) West Bengal has the maximum mangrove cover in the country.
(4)- - All the above three
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TR el SR 9. g 7 Ramsien fafies I gt 3R, &eed «h @4 AT ?
1) 90 A9 Feda feum oTR.

() X e v/ wmEter @i fidh 39 & wead $-Hu el HAE W § R M AT

fetl/qa w.
(3) 1 Tl EE ST ol www.elecwasnit.com X FE&AIAT ANT.

@) F-5u0 W Vo SfeTaHen g Sevardd Tefae .

Maharashtras first authorised electronic waste unit, Eco Recycling Ltd has begun its
operations. Which of the following statements is not correct about it ?

(1) Ttis located at Andheri, in Mumbai.

(2) They send their pick up van to collect e-waste from your hdrne/ offices (be it
computers, tv or cell phone). :

(3) _One just has to log on to www.elecwasnit.com and the company collects it.
(4) Itis finally sent to Belgium for metallic extraction.

94.

i 3 feamiE SR T e |
(@) SITTUAT 2011 FTO Had veX feR el SEiad SIS Wi 0.6% .

(b) FERTENS STIHFEA ST o oA SHR §ed TR 10.2F 7.8 IR
vt s

(1) @ () 2) ¥ () (@) @ T
Which one of the following two statements is correct ?

(@) As per the census 2011, the percentage of Scheduled Tribe population in Mumbai
city district is 0.6%.

() The Scheduled Caste and Scheduled Tribe population in percentages of Maharashtra
stand at 10.2 and 7.8.

Answer Options :

(1) Only (a) @ Only (b) (3) Both (4) Neither

95.

TIUAT 3Tt 2011 THR HeRISg (eATe fohell 2o Paaidhs T8 UEd vared glasn Syersy
A2 _

(1) 38.2% Q) 42.4% (3) 53.1% 4) 30.5%
According to the Census Report 2011, how many have latrine facility available within

.their premises in Maharashtra State (household wise) ?

1) 38.2% (2) 42.4% (3) 53.1% 4) 30.5%
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96. €. TSERT FHd FHIHV FHt faAden ‘wFHv-gue’ € et T W gy i i
T A1 S Si=a1 Hehd R0 Fedt TR,
BT{HWWET:
(@) @ Feal. ‘
(b) W FH A AR IR,
e A Yl VR ARG A ? |
(1) %9 (a) (2) %9 (b) @) & 4) TR

Dr. Balasaheb Sawant Konkan Agricultural University has developed a new variety of
mango, ‘Konkan-Samrat’, which is a hybrid of Alphonso and Tommy Atkins.

In comparison with Alphonso it :

(@) fruits every year.

(b) however is less disease resistant.

Which of the above two is correct ? | _
(1) Only (a) (2) Only (b) (3) Both (4) Neither-

97. ¥R WA W fF fraw fasmren (CR.Z) wRives fadieamgm aefads s 89
TSR R ?
(2) Yo 9 o uRwr 52
(b) SieuM - et anfor warfgdta s
() e g fFa wew
(d) ¥ER faart y_w
et F |
(1) (a) =0fT (b) (2) % (b) () W (c) (4) (o) 3nfr ()

Which of the following regions have been excluded from the Regional Limits of CR.Z. by
the Government of India ?

() Mumbai and surrounding Islands

(b) Andaman-Nicobar Lakshadweep Islands

(c) Eastern Coastal Region of India

(d) Malabar Coastal Region

Answer Options :

(1) (a) and (b) (2) _ Only (b) (3) Only (c) 4) (c) and (d)
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98, i it W TR e T o @

(a) T ke ERd AN AR,

(b) T 2014 9 GE FIEW@ .

() T dama gan wier enft ¥e AREFEET ST Saet.

T (d) g G AT T AT A FRETET ST, Wasen gﬁmmwm%@fa

Qi Tt sRfert a7 et A g TR,

(@) e e 3 o i et e

() S wd:S HEor gk 9 aeifed TR,

(g) Tordrs i) Wesdt ST Q) W W ) S 3 W

Taiedt I :

® @ : @ ©

® ® @) e R T

Which one of the following statements about the Rajiv Gandhi Khel Abhiyan is
not correct ? :

(a) Itis a centrally sponsored scheme.
(b) It was launched in 2014.
(c) Tt took the place of Panchayat Yuva Krida and Khel Abhiyan.

(d) ‘Promotion of sports as a way of life’ among the youth, increased access to sports
facilities conduct of sports competitions are included in the scheme.

(e) Integrated sports complexes will be constructed.

(f)  Provision for self defence training for women has been madé.

(g) Special category games are also organised like North East area games.
Answer Options :

1) (@ @ ©

3) (8 (4) None of the above three
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. e 99 faumite! SR g o ?

(a) mmwwaﬂﬁﬁw@wmﬁazﬁﬁwﬁﬁamﬁ?m
& (2050 WA 2010 = GERE 30% T F wOr onifem SR,

(b) S B UERET 3 S Y] AR
(1) 9@ (2) () ¥ (b) (@) & (4) T
Which one of the following two statements is correct ? o \

(a) To limit the increase in Global mean temperature to 2 degree C relative to
pre-industrial level the GHE at global level have to be reduced by 30% compared
with 2010 by 2050.

(b) Ozone is a triatomic molecule of oxygen.

Answer Options : _ R
(1) Only () (2) Only (b) (3) Both (4) Neither

100. ‘S’ 2 o Eel o SRd. @ An faumien wafg e
(a) &S Tiemeide ST WS S O .
(b) % P qd yeiERe W SeeT.
(c) ¥ TTERCI=T WA= &R G
(d) FiET gBERE Yei-aTeR YT Ued AL

1 @ ST (b) (2) (b) =0f (c)
(3) (a) S () 4) (b 3nfoT(d)

The characteristics of the Jet stream are given below. Choose the option showmg the
correct characteristics.

(@) They occur in both the hemispheres between the westerly heavy winds.
(b) They occur at equator and polar regions. |

(c) They occur in the lower part of the atmosphere.

(d) " They do not affect the rainfall on the earth’s surface.

Answer Options :

(1) (@) and () (2 (b and (9

(3) (a)and (0 @ (and(@)
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101. Y& S fauMite! FId T 318 ?

(a) I Sieveter SYergeaar o s S Swie de.

(b) T WO T T e (S w3 Yefn) v .

e e | |

(1) F9% (a) @ ¥ (b) (3) (4) T

Which one of the following two statements is correct ?

(a) Cartagena protocol refers to Biosafety and issue relating to genetic engineering.

(b) Nagoya protocol relates to Access and Benefit sharing.

Answer thions :
(1) Only (a) (2) Only (b) . (3) Both (4) Neither

@ SFOAT 2011 TR HEREwe fhd 29 S SIS {uarar qvarE S SYasd S ?
1) 50.2% (2) 59.4% (B) 60.8%  (4) 75.0%

How many households in Maharashtra have availability of drinking water source within
their premises as per Census 2011, percentage wise ?

1) 50.2% Q) 59.4% 3) 60.8% (4 75.0%

103. Grefterdsh! HIvT Faterom=t qaen et Y 1977 788 e qEd g Hor HRTaaE
el Aeht ?

(1) 30 argeh feaaa (2) i T TE
() ABEH (4) <TfaeE AT e fadeum ah

Which one of the following environmental issues was discussed in the United Nations
Conference at Nairobi in 1977 ?

(1) Depletion of ozone layer (2) Heavy floods in Congo river

(3) Desertification (4) Melting of ice due to global wérming

HoeAT HIMTETE ST /SPACE FOR ROUGH WORK

P.T.O.



Admin
Line

Admin
Oval

Admin
Line


KO6 50 » A :
104. T FIRSE Qe el fa9m et smga @e Wwwﬁwmmﬁa@
(a) w FHIR 1992 |l He.
(b) ¥ T T S S S SAFAEES e 1995 1 AT Wt SO &1 B,
(€) A FRHGR ST AN WHRY 3% I1 T a1eq Wea.
(d TFN AYEHER G,
u'crh"r IR
(1) W () A (o) @ wWO)
(3) R (c) M (d) (4) W (b) I ()
Following are some of the statements pertaining to Kyoto protocol. After readlng them
choose the option depicting a group of correct statements
(a) Tt was 31gned in 1992
(b) One of its objectives was to reduce the carbon d10x1de emission below the 1evel of
1995. : , v
(c) After the protocol emission continued to go up at the rate ‘:of‘ 3 percent a yéar.} :_‘ |
(d) It'was signed in Japan. | | | | |
Answer Options : o . S
(1) (@ and (c)only 2 (®ony
(3) (c) and (d) only (4) (b)and (c)only “°
105. Tt AT T YO Fesferdl, FIAREA YHeAIqS Foed WS Stoi-Furredt g et 2
(1) g | (2 R
(3) ez T | (4) YAE WX

Eco-system of which sea has been destroyed by the project undértaking diverting of river
waters ?

(1) Red sea (2) Aral sea
(3) Baltik sea _ (4) Mediterranean sea
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106, TAe faum wer
(a) 3IRMETE YR e VR uivEHy TR,
(b) SEAAETE fear e foeear= ST 1,
() WeRTgmHiE e 6 fcesisl | FHfeh Tsaren AT .
watdt T ;
1) e faum () SR IR
() W G (¢) 9% TR
() faum (a), (b) 30fo1 (c) I aTew.
4) faum (b) anfer () TR 3=,
Observe the following statements : |
(@) Awurangabad city is located to the west of Jalna city

~(b). Osmanabad district is located to the North of Jalna district
(c) Only six districts of Maharashtra have a common border with Karnataka state

Answer Options :

(1)  Only statement (a) is correct

(2) Only statement (c) is incorrect

(3) Statements (a), (b) and (c) are incorrect
(4) Statements (b) and (c) are correct

107. YIRAT WAt i FaRar sraeedn 10 feai= werar 95% Jan it 7. 41 a1 freasiarsa
e B faummrie v arg T ?

(a) TR 6 fies I TAWIA e
(b) Wi 3 foer fieiiw AT emRa.
(1) 9@ (a) (2 F73 (b) @) T (4) T T
The top ten highest literate districts of India have upwards of 95% literacy rate. What is
not correct about these ten districts ?
(@) Six of them belong to Kerala
- (b) Three of them belong to Mizoram
Answer Options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

HEAT HUTEIS! FRT /SPACE FOR ROUGH WORK

P.T.O.



Admin
Line

Admin
Line


KOe6 52 A

108. TeaT=l =T 2011 WEA A(SfAUa Seied1 SEANT AFHEA Ae oAl TR Jard, Savedl
AN HISUT .
(1) IWYRY, foRR, FREs, 97 9 FHRW
2) TR, S w3y, AueE, 9 9 HIPR
() T, TEUEE FoF, faRR, S 3 SR
(4) SrevTE Yew, TR, e, 9y o HIVR

Arrange the states in a descending order of their percentage decadal popuiation growth
as noticed in 2011.

(1) UP, Bihar, Jharkhand, Jammu and Kashmir
(2) Bihar, UP, Meghalaya, Jammu and Kashmir
(3) Meghalaya, Arunachal Pradesh, Bihar, Jammu and Kashmir
(4) Arunachal Pradesh, Bihar, Meghalaya, Jammu and Kashmir

109. SFiEReS for qet fffdtem 18 et s, ®i=n 3 st A

LG fafifet o
@@ | () fEfwmErR
(b) T (i) SfEARER
(c) TEET (i) I IS 9 T HHACH HEHEIR
(d) WEFAN (iv) <=1 g 9 YTafRe AR
g T vatg freer

@ B © @
W @ @ G 6
@ ) @ @
® O O @ @
@ @ & 6 6

Names of cyclones and their places of formation are given below :

Name Place of formation
(a) Tornado (i) Indian Ocean
(b) Hurricane (i) On Land
(c) Typhoon (i) West Indies Islands and Atlantic Ocean
(d) Cyclones (iv) Sea of China and Pacific Ocean

Select the option for correct pairs :
@ () (9 ()

(1) (D) (i) (iv) (1)

(2) (v) @@ @) @

@) @ @ @) )

(4) @) @) @ @
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110. Y& SF faumite! S are R ?
(a) Tormae 1. WERE AT Yeqre Wids HiCUd Seqedi YU fHase SUar SIHor SUreul
.
(b) TS TG T I SFEYTHIEREAT g Y= faliuma Qe dedes .
o | | |
(1) 9% (a) @ a3 (b) (3) A (4 TR
Which one of the following two statements is correct ?
(@) Vinayak D. Savarkar undertook a fast unto death for giving the untouchables an
access to the temple at Pandharpur.
(b) Pandurang Sadashiv Sane wés connected with social movement against the evil
practice of untouchability.
Answer options :
(1) Only (a) (2) Only (b) 3) Both (4) Neither
111. 2014 =1 qafere fosm FewisHaR araren 100 Yt o Tt 3R 178 Jwiwed
el @ At e
(1) 28.03 7fYr 153 =1 (2) 29.30 anﬁlf 154 =1
(3) 33.38 amfur 156 =T (4) 31.33 30T 155 =

According to the Environmental Development Index of 2014, India scored ,
points out of 100 and ranked in the list of 178 countries.

Choose the correct option :
(1) 28.03 and 1531 (2) 29.30 and 154th

(3) 33.38 and 156t (4) 31.33 and 155t
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112. Wzollwmgaéa@éewmﬁwmwm3mmm
T HEAT IR ?

I FIHTHE ARA W T faguidra
TR& T wiwv, fogd 9 7t feiemmgm
fot faguidier

- 2 faguidiar & T i

What have you to say about the three districts with the highest literacy percentage after
Mumbai and Mumbai Suburban as per the 2011 Census ?

Two belong to Konkan and one to Vidarbha
One belbngs to Konkan, one to Vidarbha and one to Pune Division
All the three belong to Vidarbha

Two belong to Vidarbha and one to Konkan

(1)
@
(3)
4)

(1)
2
(3)
4)

113. EEtee! Howe fiee Temed ey ddt He 9w 2

Tefalielt, TR, T, SR

Which of the following districts practice shifting cultivation ?

Gadchiroli, Solapur, Nashik, Chandrapur‘
Chandrapur, Thane, Nashik, Gadchiroli
Aurangabad, Solapur, Thane, Nashik
Thane, Nashik, Parbhani, Dhule
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114. Q%wawaﬁa@aﬁﬁmm.ww@W?
(a) IHAT=AT oA WIS ST AT AGH AT AR AEUA ¢ dIR Tl
(b) T HEATE @ HI@A Gl STHd.

it I - .

(1) % (a) (2) %= (b) @) A (4) TS

The loo is a hot and dry wind that blows in the summer months. What is incorrect about
the loo ?

(@) Theloo occurs due to convective air movement reSulting from the intense heating of
the earths surface.

(b) The loo is strongest in the foreﬁoon.
Answer Options : ‘ R _
(1) Only (a) (2) Only (b) (3) Both (4) Neither

115. WA AR Y916 THR T- AT TaTg &1 Ereftadnt Hig fmior 8l ?
(1) O ioe Toid TEETES) (2) O ST sreeiien e
(3)  WIq WETARRTEAT U= AT (4) Té TemmRIe Her ST
El-Nino current which affects the Ipdian monsoon originates at :

(1) Pacific ocean off Peruvian coast 2 " Atlantic ocean off Peruvian coast

(3) Western part of pacific ocean (4) Central part of Indian ocean

116. T B faumite! SR g TR ?
(a) TorauHTa anfor e fareia St O 91901 FROAMET (GHRUATEIST) Feht AR,
(b) RgE e fafmarcrs Sfsawst cahart 15 3an sifus e,
el 3 | |
1 ¥ (@) @ ¥=@ () W (4 T
Which one of the following two statements is correct ?
(@) For the reclamation of alkaline and saline-alkali soils Sulphur is used.
(b) Exchangeable Sodium percentage of Saline soil is more than 15.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
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117. TS TRA F1/ AT TSN VAT HIVAT A= ARG AHHEIRd Felii e AEH

3R ?

(1) e (CHy) (2) g SRS (N,0)

(3) @M SEARERE (CO,) 0 (4) e AHEEES (CO)

Which of the following gases from Indian Agriculture contributes maximum in global
warming ? v

(1) Methane (CH,) (2) Nitrous oxide (N,0)

(3) Carbon dioxide (CO,) ’ (4) Carbon monoxide (CO)

118, Y&t 9 faumiet v ey e ?
(a) ST HR e Fh AE.
(b) & () ¥ HR WA G R
qaidt 36T
(1) &332 (a) 2 ¥ (b) (B) = (4) e
Which one of the folloWing two statements is correct ?
(a) Sugarcane is a salt tolerant crop.
(b) Gram (Chana) is a salt sensitive plant.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

119. Wﬁ?ﬁmﬁaﬁmﬁwm}?
() e-fafr e i 7wl g o,
(b)) e TR Ao s A e,
v e |
W) ¥Ws@E (2 ¥ @ @ wETE
Which one of the following two statements is correct ?
(a) The cation exchange capacity is high in Montmorillonite clay minerals.

(b) Basalin is used to control the transpiration from crop leaves.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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120. JEid < faumiea! RIvH TEmg R ?
() reeddes gRagwREY FA g
(b) HRR TRSTIUEES i el
At I
(1) %% (a) (2) D (b) (3) < () R
Which one of the following two statements is incorrect ? '
(@) Refrigerators give rise to Hydrofluorocarbons.
(b) Fire extinguishers lead to increase in halons.
Answer options :
(1) Only(a)  (2) Only (b) (3) Both (4) Neither
121. ST 3o TeteHE ForrTan e 32 gfd W WIS ST el FIVR FEHU SeTaeR 8 ?
(1) feremen w=w (2) T o
(3) e w1 (4) TS T
Which pollutant was responsible for the minamata disease epidemic that caused several
deaths in Japan and Sweden due to consumption of contaminated fishes ?
(1) Lead wastes (2) Mercury wastes
(3) Cadmium wastes (4) Chlorinated hydrocarbons
122. e M faumidet SIvK T8y R ?

(@) SteRmamafie stfrrSH AwviS Staw F= Yo =il Feat 3.

(b) TR FEa Joneh dst Sfitiar fad s o,

(1) 9 (@) (2) ¥ () ®) I} (4) @
Which one of the following two statements is incorrect ?

(a) BOD gives a good idea about the level of organic waste pollution.

(b) Sprinkler irrigation system is particularly suited to the loamy soils.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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123. WATAYHT SV TAHE TS AEAGE A3 THOTd STesand 2

(1) FoEEe T SreAme (2) TEEEE § WHERE

(3) TR F PreHH @) T 9 fadade

Which of the following are the most widespread primary minerals in soils ?
(1) Calcite and Dolomite (2) Pyrites and Marcasite

(3) Quartz and Feldspars (4) Gypsum and Siderite

124. @ﬁaﬁaﬁmwﬁaaﬁqﬁé‘ﬁwmﬁ(%waﬁw)’m@a?

(a) I, WId, SN (b) TR, W, HId

(c) STRTUM, U, TE (d) 3w, FreTem, HATEh

a3 ; |

0 @%@ @ ®FE G) ©3@E (4) (d) ™

| Among the following, which group has plants that are all “day neutral’ ?
(@) Maize, Rice, Pea (b) Wheat, Sweet-potato, Rice
(c) Pea, Cotton, Wheat © (d) Tomato, Pea, Cotton

Answer options :

(1) (a) and (d) (2) (b) and (¢ (3) (9) and (3 (4) (d) only

125. ﬁwﬁwﬁmwwﬁwwwaﬁwmwm7

(1) iR e (2) 9 e
(3) SRR T ST (4) TIET RN
At which stage the crop co-efficient is maximum for calculation of water requirement ?
" " (1) 'Reproductive stage | (2) Seedlin;g stage
(3) . Active vegetative stage 4) Maturity stage
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126. YRaMeA 9UH Hiufag@diar] w&rg=r BIEE CREIRiA

(1) = G deE (2) e JEA Ha

(3)  <rert = f (4) eI e

The first Agricultural University in India was established in the name of
(1) Dr. Panjabrao Deshmukh (2) Govind Ballabh Pant

(3) Choudhari Charan Singh (4) Chandrashekhar Azad

127. VRAA WX FoA JAaRITOR HIhTere, aike, fge, s 9 =il sn Ffaria fasmme 1 aiea.
W R <9 faumitst S a9 ome ?
(a) HERTEIAIA HIVE! BT HIRIQHE aid Hisd el
(b) AR o RGeS i Jefr.
it Y :
(1) %9 (a) 2) %A@ (b) (3) A (4) ThE

Indian cities are classified on the basis of air quality index among Dangerous, Bad, Poor,
Fair and Good.

Now state which one of the following two statements is correct ?
(@) There is no city from Maharashtra in the Dangerous class..
(b) Tuticorin and Coimbatore fall in good class.

Answer options’:

(1) Only (a) (2) Only (b) (3) Both (4) Neither

128. FIVAT IEHI NYVESATS it o6 FITE! B, G5hles T HIUITH! &9l GuRd 9 AT
YidhRe WK A3 ?

1) Q) T (3) T (4) hieEm

Which plant nutrient increases root growth, improves drought tolerance and imparts
disease resistance to crops ?

(1) Nitrogen (2) Phosphorus (3) Potassium (4) Calcium -

\
»
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60 A
ST 3AR TFRUET T STl T8l hk =R direhg et fefall Sfefsrgee Ry
3T R
(1) 10 2) 15 3) 20 - @) 25

Contour trenches are not advisable, neither technically nor economically when slope is
more than percent. :

(1) 10 (2) 15 (3) 20r 4 25
130. ST S STt & Sf-ren (A=) ‘&' auued &l 319 ?
(1) W= ‘3 eRmed R SRS STH. |
(2) W ‘A oA diehdr e .
(3) TS W TAHYE T,
(4) W= TR R HET TR ST,
Why horizon ‘A’ of soils harbors maximum bacterial population ?
(1) Soils of ‘A’ horizon contains more nutrients. | |
(2) Soils of ‘A’ horizon is more fertile.
(3) Soils of ‘A’ horizon is saturated with water.
(4) Soils of ‘A’ horizon is rich in organic matter.
131. R 2 faumiiest SR 9 AR ?

(a) Teira & fafden snftr Rrerpaiaae ai=an ST Sam.

(b) THAN G S TG

et I :

(1) ¥ (a) 2 % () @ ¥ @ T
Which one of the following two statements is correct ?

(@) Allophanes are a combination of Silica and sesquioxides.

(b) Tourmaline contains Zinc.

Answer options :

(1) Only (a) 2 Only(b)  (3) Both (4) Neither

FHoAT HIHTEIS WA /SPACE FOR ROUGH WORK



Admin
Line

Admin
Line

Admin
Line


A : : 61 KO6

132. TIHI PR HeF Wi Ieed A1 fafay o e ot e e ?
(1) d9HHE, STEl, IR, T
’(2) 9T, Fehr, iiifas T, At
(3) SfHAdE qron, S qreEE, T, A

(4) i =, FIEEUEIREE 39, IR, IS

Which climatic elements affect the crop production or various crop cultivation
practices ?

(1) Temperature, moisture, wind, light
(2) Wind, light, topography, soil
(3) Soil water, soil temperature, rain, soil

(4) Topography, altitude, wind, rain

133, R R T et s e A R A
(1) = nfor vy (2) SR i
@) i s @) e s
The deficiency symptoms of are visible at the tips of shoots and roots.
(1) Nitrogen and Sulphur (2) Boron and Calcium
(3) Magnesium and Iron (4) Pétassium and Phosphorus
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134.’3ﬁaaﬁﬁuﬁﬁaﬁwmaﬁ?
(a) W ST AR Y T IRITEEr 9REd TR W g USad ST
(b) feries At Fufite/ S gen =omm.
i I
(1) F9% (a) (2) 93 (b) (3) =& (4) THE TR
Which one of the following two statements is correct ?

(a) Soil erosion by wind brings about serious damage to soil by changing the soil
permeability.

(b) Histosols are known as organic soils.
Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

135, TR SR HERT 9 SR IO AT S A AT 35 3 40 39 ST SO S
FIVIAT TTEIAHED SNEead ?

(1) €, T ‘ (2 Ht, et

(@) %wed @ TR (1), (27 O)

The higher rate of Photosynthesis and higher rate of Water Use Efficiency (WUE) at an
optimal temperature range of 35°C to 40°C is generally observed in :

(1) G5 plants (2) C4plants

(3) CAM plants (4) (1), (2) and (3) above
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136. ITEIATAT @A TATIEA aXudd gfagsd (fevan 1) A& S g AT AT
HHAAE &I 3R
(1) T (2) HS 3 #afmm (9 Tww
Loss of green colour of leaves starting from the bottom leaves upwards is a deficiency
symptoms of element.
(1) Copper (2) Manganese (3) Magnesium (4) Sulphur

137. TER! S ST S BUA Se@edl Sl SIvE SR STTavas oed ?

(a) ifereol Wt () R A
(c) sirifers THequn (d) TER GSUTET AT
(€) wHHEAR IH=T () HETHATON
it I
1) (@), ®) (), @ @ (®), () (), B
3) (a), () () (&), (O 4) (@), (b), (), (d), ()
' TWiat are the essential characteristics for a community to be identified as a Scheduled
(2) Distinctive culture (b) Primitive traits
() Geographical isolation (d) Shyness of contact
(e) Declining population () Backwardness

Answer Options :

1 @ ®) © 6 2 (b) (o) (&) ()
3) @, b)) () () 4) (@, (), (), (@) @
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138. WEEA FHHITANHE HEE § QAT FHHITE 9 & A7 Jia HI0 oA e Soeal

(a) WS wEE () WRaS AT 7 Sidie o1 ared g
(b) wIEH () ot W T e

() & (i) aféawmﬁh%ﬁ—gﬁ

(d) R TR (iv) TSR Y GUTEE

TR I

@ B © @
1 @) G @ 0
@ @) ) 6 @
@) @ @ G ()
@ O @ @ W

Match the following members of the Simon Commission and the reasons for their
appointment on the Commission :

(@) Sir John Simon (i) Expected to be acceptable to the Moderates in India
(b) Burnham (i) Had travelled all parts of the British Empire
(c) Lane Fox (i) Brother-in-Law of Lord Irwin

(@) Vernon Hartshorn (i) Member of Labour Party
Answer options : o
@ () () (@
1) Gv) (@) @) @)
(2 (@) @Gv) @ ()
@) @ @ @Gv) ()
4) @ @) (D) ()
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139. AN A fRoicaines, fHeamart Saeen fusm 3cas § 99 9ol geEmrhd femee ae
IREI I .

(1) 9T stf (2 W (3) U&T HH (4) e sffEm

With similar amount of solar radiation, crops that are grown with irrigation give
yield compared to those grown with equal amount of water as rainfall.

(1) more (2) equal (3) less (4) indefinite

140. R 9 faumits! Sk STErg e ?
(a) I T e Ao ST e RO 310 4.3, S A,
(b) NS SRR AT AOHH 10 - 16° €., 7H.
i I
W) FEE @ FWeE @ @ @ wT®
Which one of the following two statements is incorrect ?
(@) Optimum temperature required at tillering stage of Rice is 31°C.
(b) Optimum temperature required for egg producﬁon is 10 - 16°C.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4)  Neither
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141.

66 A
T B FasiE F v e ?
(a) TR TR T B
(b) T& FopEER TRom #a.
Tt I
(1) 9 (a) (2) HIB (b) 3 A @) T
Which one of the following two statements is correct ?
(a) Mercury causes loss of memory.
(b) Lead affects lungs.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

142.

@i 3 faumitst SR 9 AR ?

(a) el faawor € yEm mﬁ?w&&a?ﬁwﬁwmwraa e,

(b) THIGIS & VT Hghigae S AT 379 Tgvars fosmn. 71 wsg oifed o,
i e :

(1) ¥9@ (a) 2 H9S (b) @ & (4) T
Which one of the following two statements is correct ?

(a) Plant distribution is primarily controlled by the distribution of edaptic conditions.

(b) The word ecology comes from the word Oikos meaning dwelling. Oikos is a Latin
word.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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143. Togm #fee H1E Ao G0l ST AL A ST AT AeHETe Adifavden HHGE Fel ool
Q. I FANHEEd S T AR ? |

(a) T AN FIs TEHR ST @ %’aﬁﬂuﬁwmaﬂ?ﬂaaﬂmﬁaﬁ

(b) mmmﬁwwmmﬁﬁﬁaﬁmgﬁﬁﬁ
ESISIGE

W‘H‘\‘S?ﬁ': . .
(1) %S (a) 2) %9 (b) (3 e (4) THE

The Kisan Credit Card Scheme is in operation throughout the country and the scheme
augments credit flow to agricultural activities. What is not true about the scheme ?

(@) The scheme is implemented only through the Cooperative Banks and Regional Rural
Banks.

(b) Under the scheme credit is extended only for the consumption needs but does not
include term credit.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) ' Neither
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Problems of dry land Agriculture are :

(a) Late onset and early ceasation of rain.

(b) Prolonged dry spells during crop period.

(c) Low moisture retention capacity of the soil.

(d) Poor soil fertility condition.

(e) Technological and’ developmental constraints.

Answer options :

(1) (a), (c) and (d) correct (2) (b), (d), (e) and (a) correct
(3) (@), (b), (c), (d) and (e) correct (4) (a), (d) and (e) correct
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Choose from among the following essential mineral nutrients of a crop :
(a) A deficiency of the element in question results in failure to complete life cycle.

(b) Deficiency of the element in question can be corrected only by supplying that
particular element.

(c) The, element must extend its effect on growth or metabolism.
(d) The element is essential in small quantities only.

Answer options :

(1) (a) only (2)  (a) and (b) only

(3) (a) (b) and (c) only 4) (@), (b), (c) and (d)
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The means by which GPS signals are used to determine ground position is/are called as :
(a) Satellite ranging (b) Satellite orbit

(c) Satellite distance (d) Satellite receiver

Which of the statements given above is/are correct ?
(1)  (a) only (2)  (b) only
(3) (c) and (d) only (4) None of the above
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Which one of the following two statements is correct ?

(@) SPOT and QUICKBIRD satellite system is an example of passive Remote Sensing.

(b) Sixteenth IRS satellite OCEANSAT - 2 was launched on 23t September 2009 by
usmg PSLV-15 launch vehicle.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

HoAT SIS W /SPACE FOR ROUGH WORK

P.T.O.



Admin
Line

Admin
Line


KO6 - 70. A

148. &I < fauFides! Hivd 900G R ?

(a) Q@W@Wmﬁwaﬁsmmwmmmaﬂm
TRATAT G HISHAT SIS TEAHE A ST

(b) 2013 WA YRATAT §d fRTRIgIaR geshared WA (phailin) AT S5k aTEeTe SeTT =
HRuidid @ gaaiEmet ®erde-1 (CARTOSAT-I) a1 IUUE Ffqwi=n STt Ha e,

. Wfﬁ‘a?ﬂ‘:
(1) 9 (a) () ¥z () @) ¥ @) AT

" Which one of the following two statements is correct ?

(@) In microwave wavelengths (or Radar) systems, wavelengths greater than 3um are
more commonly used for sensing the characteristics of cloud cover regions.

(b) CARTOSAT - I satellite data images were used in the prewarning of the advancement
of the cyclonic phailin that stuck the eastern coast of India in 2013.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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Which one of the following two statements is correct ?

(a) Remote sensing systems which measure energy that is naturally available are called
as active sensors.

(b) Remote sensing images are commonly multispectral and ASTER images record seven
spectral bands.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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Which one of the following two statements is correct ?

(@) The visible wavelengths cover a range from approximately 0.7 to 0.9 um.

(b) For a GPS Satellite, a full constellation requires 24 satellites.

-Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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